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Adding two numbers up to seven digits word problems

‘ After the heavy rains yesterday, the farm workers went out to
pick up ripe fruit that had fallen from the trees. After a first
pass, the workers collected 45,857 fruits. Then a second
passage allowed them to pick up 22,769 fruits.

How much fruit did the farm workers collect after the two
passes?

‘ A toy factory produced 7,856,940 toys last year. In the current
year, they expect to produce 2,856,710 more items than last
year.

What will be the total number of toys to be produced by the
end of the current year?

‘ " The city's orphanage received donations in the amount of
€9,146,296 in february and €1,876,776 in march.

How much money did they receive in all?

‘ Piper was asked to find the sum of 7,325,569 and 5,570,968.
She did it very quickly because she is hardworking.

How long did it take you to find the sum of the two numbers?
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d. Number of fruits picked after the first pass = 45,857,

Number of fruits picked after the second pass = 22,769.
Therefore, number of bananas Stephen picked =

number of fruits from the 1*t pass + number of fruits from the 2" pass.

45, 857
+ 22, 768

68, 626

So, the workers picked 68,626 fruits.

They plan to produce 10,713,650 toys.

C.

They received €11,023,072 in all.

The sum of the two numbers is 12,896,537
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